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#1. Congenital abnormalities. In the 1980s it was generally believed that congenital abnormalities
n affected about 5% of the nation’s children. Some people believe that the increase in the number of
chemicals in the environment has lead to an increase in the incidence of abnormalities. A recent study
examined 384 children and found that 46 of them showed signs of an abnormality. Is this evidence that
the risk has increased? '

a) State the hypotheses:
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b) Check conditions
s SES /aﬂwm: " WNM@M’ %W
a o iedep. { as5umed)
v acied pop (381 ¢jod o *ll chitcleen)
e Np= ( ggy‘)( ’.Q?“) =172 >
ng = (38 4) =2ek o |
- ¢) Conduct the test (find the p-value). Do this by hand first, and then check your answer by using an
- appropriate hypothesis test in your calculator: ' .
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d) Write your conclusi‘bn paragraph. o . - / 4@
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#2. DV Seniors (group investigation)

a) In your group, each of you separately use your phones’ internet browsers to browse to
www.mrfelling.com/sa3 .
Select ‘One-sided, upper (>)’ and click ‘sample’.

Read the whole page on your phone, and press ‘sample’ at least 3 times. Each time write down the
following:

Null hypothesis value p, sample’s p p-value  sketch the distribution and shading
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b) Now click ‘reset’, and select ‘One-sided, lower (<)’ and click ‘sample” a fgwaflmes. Record the same.
things for these trials:
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c) Click ‘reset’, and select “Two-sided, (# )’ and click ‘sample’ a few times. Record the same things
for these trials:

Null hypothesis value p, sample’s ;9 p-value sketch the distribution and shading
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d) Compare with others in your group. Write about what you notice is c'?lgarigi/ng and staying the same in -
these cases: : ' .
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#3. Frogs A certain species of poison-dart from always has a body with two yellow stripes on its back,

but a percentage of frogs also have a blue stripe between the two yellow stripes. The blue stripe is’

historically found in 34% of the frogs. Industrial pollution has been found in rivers containing these ‘

frogs and researchers wonder if the pollution is causing a change in the percentage of frogs with the blue
 stripe. A random sample of 60 frogs was collected and 29 had the blue stripe. Does this data provide
“evidence that the proportion of frogs with the blue stripe has changed?

a) Conduct a hypothesis test (by hand) to answer the question (use p=0.34 when computing o, ):
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: ' 'b) Your analysis should have concluded that the percentage of frogs with the blue stripe has
changed...but to what percentage? To estabhsh a percentage for the population, now compute a 95%

- confidence interval around your statistic. (use p when computing SEA)
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c) Is the null hypothesis value, 0.34, in your confidence interval? '
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Chapter 20 Practice Quiz _
~ AP Statistics Q.uiz B - C&aﬁ!‘er 20 Name_

The Interhational Olympic Committee states that the female participation in the 2004 Summer
Olympic Games was 42%, even with new sports such as weight lifting, hammer throw, and
modern pentathlon being added to the Games, Broadcasting and clothing companies want to
change their advertising and marketing strategies if the female participation increases at the next
games. An independent sports expert arranged for a random sample of pre-Olympic exhibitions.
The sports expert reported that 202 of 454 athletes in the random sample were women. Is i:hzss
strong evidence that the participation rate may mcrease? :
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2. Was your test one-tail upper tail, lower tail, or two-tail? Explain why you choose that kind of
test in this situation.
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3 Explain what your P- value means in this context.
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